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QUESTION 1

An ESXi host is being re-purposed from a 4-node cluster. The default policy is in use and storage
utilization is low.

Which maintenance mode should be used to avoid storage policy non-compliance?

A. Ensure accessibility

B. No data migration

C. Proactive rebalance

D. Full data migration

Correct Answer: A

Reference: https://storagehub.vmware.com/t/vmware-vsan/vsan-2-node-guide/maintenance-modeconsideration-9/

QUESTION 2

Which fault tolerance method protects business data and achieves storage space efficiency?
A. RAID-0

B. RAID-1

C. RAID-5

D. RAID-10

Correct Answer: C

Reference: https://www.prepressure.com/library/technology/raid

QUESTION 3

Which two object space reservation choices are available when deduplication and compression are enabled? (Choose
two.)

A. thin provisioning
B. 25% reservation
C. thick provisioning
D. 50% reservation

E. 75% reservation
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Correct Answer: AC

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.virtualsan.doc/GUID08911FD3-2462-4C1C-AE81-0D4DBC8F7990.html

QUESTION 4

Refer to the exhibit.

Data Site 1 Data Site 2
I Layer 2 Network J

Which networking requirement fulfills the connectivity between the Data Sites and the Witness node?
A. Extended Data Site network
B. vMotion network

C. Direct Connect network
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D. Layer 3 network
Correct Answer: D

Reference: https://storagehub.vmware.com/t/vmware-vsan/vsan-2-node-guide/network-designconsiderations-7/

QUESTION 5

Refer to the exhibit.

100 GB VMDK
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In a 2-node vSAN environment, a storage administrator has setup a vSAN storage policy.

When the stripe width is changed to three, what is the approximate component size of each replica marked
in red?

A. 33GB

B. 50GB

C. 66GB

D. 100GB

Correct Answer: D
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